Opti 503A

Solutions 1/1

Problem 8) a)sinz =0 - [exp(iz) — exp(—iz)]/(2i) =0 - exp(iz) = exp(—iz)

- exp(2iz) =1.0 - exp[i(x+iy)]=1.0 - exp(i2x)exp(—2y) = exp(i2nmn)
%_/

- y=0and x=nr - z=x+iy=nr (forn=0,%+1,+£2,--). 1.0

b) cosz=0 - lexp(iz) + exp(—iz)] =0 - exp(iz) + exp(—iz) =0
- exp(2iz) = —1.0 - exp(i2x) exp(—2y) = expli(2n + 1)m]
- y=0and x=Mn+¥)n \ ~1.0 I
- z=x+iy=Mm+¥%)r (forn=0,%1,%2,-).

¢) sinhz=0 - Ylexp(z) —exp(—2)] =0 - exp(z) = exp(—2z)
- exp(2z) = 1.0 - exp(2x) exp(i2y) = exp(i2nm)
- x=0and y=nnm 1.0
- z=x+liy=inn (forn=0,£1,%£2,--).

d) coshz=0 - lexp(z) + exp(—z)] =0 - exp(z) + exp(—2) =0
- exp(2z) = —1.0 - exp(2x) exp(i2y) = expli(2n + 1)m]
- x=0and y=Mn+¥)n \ 1.0 }
- z=x+iy=in+%)r (forn=0,%1,%2,-).




